mmmmmmmmmmmmm

HAWKE Stock List

Part No : 501-453-B-M25

Part No: 10 X WDU 2.5

Part No : 1557448

Part No : 375 M20

Part No : 390 M20

Part No : 400W, 230VAC, BRACKET/WALL MOUNTED
Part No : 44112-4872-000

Part No : 44122-2121-000

Part No : 44122-2122-000

Part No : 44510-3220-000

Part No : 44522-3901-200

Part No : 475/M25

Part No : 476/1A/1/2"/M20

Part No : 476/1A/1/2"/M25

Part No : 476/A/1/2"NPT/M20
Part No : 476/A/1/2"NPT/M25
Part No : 476/A/3/4"NPT/M20
Part No : 476/R/IM25-M20 Ms-Ni
Part No : 476/R/M25/M20

Part No : 487 M20

Part No : 501/421 200

Part No : 501/421/B/M25

Part No : 501/421/C/M32

Part No : 501/453

Part No : 501/453/UNIV/A-M20 MS-NI
Part No : 501/453/UNIV/A/M20

ADAMS INTERNATIONAL LLC USA 1275 Bloomfield Ave Unit 81 Fairfield 07004, New Jersey, the United
States Phone : +1 (973) 228-4293 Fax: +1 (973) 858-0288 E-Mail: info@adamsint.net Web:
http://www.adamsllc.net/

Get quote now ! info@adamsint.net


https://adamsllc.net/brands/hawke/501-453-b-m25/
https://adamsllc.net/brands/hawke/10-x-wdu-2-5/
https://adamsllc.net/brands/hawke/1557448/
https://adamsllc.net/brands/hawke/375-m20/
https://adamsllc.net/brands/hawke/390-m20/
https://adamsllc.net/brands/hawke/400w--230vac--bracket-wall-mounted/
https://adamsllc.net/brands/hawke/44112-4872-000/
https://adamsllc.net/brands/hawke/44122-2121-000/
https://adamsllc.net/brands/hawke/44122-2122-000/
https://adamsllc.net/brands/hawke/44510-3220-000/
https://adamsllc.net/brands/hawke/44522-3901-200/
https://adamsllc.net/brands/hawke/475-m25/
https://adamsllc.net/brands/hawke/476-1a-1-2--m20/
https://adamsllc.net/brands/hawke/476-1a-1-2--m25/
https://adamsllc.net/brands/hawke/476-a-1-2-npt-m20/
https://adamsllc.net/brands/hawke/476-a-1-2-npt-m25/
https://adamsllc.net/brands/hawke/476-a-3-4-npt-m20/
https://adamsllc.net/brands/hawke/476-r-m25-m20-ms-ni/
https://adamsllc.net/brands/hawke/476-r-m25-m20/
https://adamsllc.net/brands/hawke/487-m20/
https://adamsllc.net/brands/hawke/501-421-20o/
https://adamsllc.net/brands/hawke/501-421-b-m25/
https://adamsllc.net/brands/hawke/501-421-c-m32/
https://adamsllc.net/brands/hawke/501-453/
https://adamsllc.net/brands/hawke/501-453-univ-a-m20-ms-ni/
https://adamsllc.net/brands/hawke/501-453-univ-a-m20/

Part No : 501/453/UNIV/A/M20/NP

Part No : 501/453/UNIV/D/M50/NP

Part No : 501/453/UNIV/E/M63/NP

Part No : 501/453/UNIV/O-M20 MS-NI

Part No : 501/453/UNIV/O/M20

Part No : 501421A

Part No : 711/A/3/4"NPT

Part No : B1118 GMS U 101 XX

Part No : DMA0012

Part No : EXE JUNCTION / SPLICE BOX FOR 100W
Part No : EXE JUNCTION / SPLICE BOX FOR 2X36W
Part No : EXE JUNCTION / SPLICE BOX FOR 400W
Part No : EXE JUNCTION / SPLICE BOX FOR FLOOD
Part No : EXE JUNCTION / SPLICE BOX FOR STREET
Part No : EXE JUNCTION / SPLICE BOX, NON METALLIC

Part No : EXE JUNCTION / SPLICE BOX, NON METALLIC EXE JUNCTION /
SPLICE BOX, NON METALLIC

Part No : FIBRE WASHER M20

Part No : FIBRE WASHER M25

Part No : GAA0012

Part No : GLAND M20 501/453/UNIV SIZE: A

Part No : GLAND M20 501/453/UNIV SIZE: O

Part No : GLAND,CABLE,HAWKE,501/453/UNIV/0S/M20 BRASS
Part No : GLAND,CABLE,HAWKE,501/453/UNIV/B/M25 BRASS
Part No : GLAND,CABLE,HAWKE,501/453/UNIV/C/M32 BRASS
Part No : GRP Junction Box PL615

Part No : HAWKE - 501/453/RAC/A/M20A

Part No : HAWKE - 501/453/RAC/A/M200

Part No : HAWKE - 501/453/RAC/A/M25

Part No : HAWKE - 501/453/RAC/A/M32

Part No : HAWKE - 501/453/RAC/A/M40

Part No : HAWKE - 501/453/RAC/O/ 1/2

Part No : HAWKE - M25 x M20

Part No : HBG453UMO6C1XXX

Part No : HBG453UMO7D1XXX

Part No : ICG 653-UNIV-A-M20

ADAMS INTERNATIONAL LLC USA 1275 Bloomfield Ave Unit 81 Fairfield 07004, New Jersey, the United
States Phone : +1 (973) 228-4293 Fax: +1 (973) 858-0288 E-Mail: info@adamsint.net Web:
http://www.adamsllc.net/

Get quote now ! info@adamsint.net


https://adamsllc.net/brands/hawke/501-453-univ-a-m20-np/
https://adamsllc.net/brands/hawke/501-453-univ-d-m50-np/
https://adamsllc.net/brands/hawke/501-453-univ-e-m63-np/
https://adamsllc.net/brands/hawke/501-453-univ-o-m20-ms-ni/
https://adamsllc.net/brands/hawke/501-453-univ-o-m20/
https://adamsllc.net/brands/hawke/501421a/
https://adamsllc.net/brands/hawke/711-a-3-4-npt/
https://adamsllc.net/brands/hawke/bi118-gms-u-101-xx/
https://adamsllc.net/brands/hawke/dma0012/
https://adamsllc.net/brands/hawke/exe-junction---splice-box-for-100w/
https://adamsllc.net/brands/hawke/exe-junction---splice-box-for-2x36w/
https://adamsllc.net/brands/hawke/exe-junction---splice-box-for-400w/
https://adamsllc.net/brands/hawke/exe-junction---splice-box-for-flood/
https://adamsllc.net/brands/hawke/exe-junction---splice-box-for-street/
https://adamsllc.net/brands/hawke/exe-junction---splice-box--non-metallic/
https://adamsllc.net/brands/hawke/exe-junction--splice-box-non-metallic-exe-junction--splice-box-non-metallic/
https://adamsllc.net/brands/hawke/exe-junction--splice-box-non-metallic-exe-junction--splice-box-non-metallic/
https://adamsllc.net/brands/hawke/fibre-washer-m20/
https://adamsllc.net/brands/hawke/fibre-washer-m25/
https://adamsllc.net/brands/hawke/gaa0012/
https://adamsllc.net/brands/hawke/gland-m20-501-453-univ-size--a/
https://adamsllc.net/brands/hawke/gland-m20-501-453-univ-size--o/
https://adamsllc.net/brands/hawke/gland-cable-hawke-501-453-univ-0s-m20-brass/
https://adamsllc.net/brands/hawke/gland-cable-hawke-501-453-univ-b-m25-brass/
https://adamsllc.net/brands/hawke/gland-cable-hawke-501-453-univ-c-m32-brass/
https://adamsllc.net/brands/hawke/grp-junction-box-pl615/
https://adamsllc.net/brands/hawke/hawke---501-453-rac-a-m20a---hawke---501-453-rac-a-m20a/
https://adamsllc.net/brands/hawke/hawke---501-453-rac-a-m20o---hawke---501-453-rac-a-m20o/
https://adamsllc.net/brands/hawke/hawke---501-453-rac-a-m25---hawke---501-453-rac-a-m25/
https://adamsllc.net/brands/hawke/hawke---501-453-rac-a-m32---hawke---501-453-rac-a-m32/
https://adamsllc.net/brands/hawke/hawke---501-453-rac-a-m40---hawke---501-453-rac-a-m40/
https://adamsllc.net/brands/hawke/hawke---501-453-rac-o--1-2---hawke---501-453-rac-o--1-2/
https://adamsllc.net/brands/hawke/hawke---m25-x-m20---hawke---m25-x-m20/
https://adamsllc.net/brands/hawke/hbg453um06c1xxx/
https://adamsllc.net/brands/hawke/hbg453um07d1xxx/
https://adamsllc.net/brands/hawke/icg-653-univ-a-m20/

Part No : IEC/EN 60079-1
Part No : LOCKNUT/1/2INNPT
Part No : M20

Part No : M20A, BaseefaO6ATEX0057X IEC/EN 60079-0/1/7/31 C/W
IP(Nylon)washer

Part No : M25

Part No : M25 Brass Lock Nut

Part No : M25 IP Washer

Part No : M25 stainless Steel Serrated Washer

Part No : M25 x 1.5

Part No : M25B C/W IP(Nylon) washer

Part No : M32

Part No : M32 C/W IP(Nylon)washer

Part No : M40

Part No : M40 C/W IP(Nylon)washer

Part No : M476//M25/M20

Part No : M63

Part No : NUT,LOCK,HAWKE,LOCKNUT / M20,20MM,BRASS
Part No : NUT,LOCK,HAWKE,LOCKNUT / M25,25MM,BRASS
Part No : NUT,LOCK,HAWKE,LOCKNUT / M32,32MM,BRASS
Part No : PL615

Part No : PL620

Part No : PL620- WDU16 X 6, WPE16 X 3

Part No : SERRATEDWASHERM20

Part No : WASHER,F/CABLE GLAND O/A/M20,FIBRE,HAWKE
Part No : WASHER,SEALING,FIBRE WASHER / M32,HAWKE
Part No : WASHER,SEALING,HAWKE,FIBREWASHER/M25,RED
Part No : mounting back plate No: 9451

ADAMS INTERNATIONAL LLC USA 1275 Bloomfield Ave Unit 81 Fairfield 07004, New Jersey, the United
States Phone : +1 (973) 228-4293 Fax: +1 (973) 858-0288 E-Mail: info@adamsint.net Web:
http://www.adamsllc.net/

Get quote now ! info@adamsint.net


https://adamsllc.net/brands/hawke/iec-en-60079-1/
https://adamsllc.net/brands/hawke/locknut-1-2innpt/
https://adamsllc.net/brands/hawke/m20/
https://adamsllc.net/brands/hawke/m20a-baseefa06atex0057x-iec-en-60079-0-1-7-31-c-w-ip-nylon-washer/
https://adamsllc.net/brands/hawke/m20a-baseefa06atex0057x-iec-en-60079-0-1-7-31-c-w-ip-nylon-washer/
https://adamsllc.net/brands/hawke/m25/
https://adamsllc.net/brands/hawke/m25-brass-lock-nut/
https://adamsllc.net/brands/hawke/m25-ip-washer/
https://adamsllc.net/brands/hawke/m25-stainless-steel-serrated-washer/
https://adamsllc.net/brands/hawke/m25-x-1-5/
https://adamsllc.net/brands/hawke/m25b-c-w-ip-nylon--washer/
https://adamsllc.net/brands/hawke/m32/
https://adamsllc.net/brands/hawke/m32-c-w-ip-nylon-washer/
https://adamsllc.net/brands/hawke/m40/
https://adamsllc.net/brands/hawke/m40-c-w-ip-nylon-washer/
https://adamsllc.net/brands/hawke/m476--m25-m20/
https://adamsllc.net/brands/hawke/m63/
https://adamsllc.net/brands/hawke/nut-lock-hawke-locknut---m20-20mm-brass/
https://adamsllc.net/brands/hawke/nut-lock-hawke-locknut---m25-25mm-brass/
https://adamsllc.net/brands/hawke/nut-lock-hawke-locknut---m32-32mm-brass/
https://adamsllc.net/brands/hawke/pl615/
https://adamsllc.net/brands/hawke/pl620/
https://adamsllc.net/brands/hawke/pl620--wdu16-x-6--wpe16-x-3/
https://adamsllc.net/brands/hawke/serratedwasherm20/
https://adamsllc.net/brands/hawke/washer-f-cable-gland-o-a-m20-fibre-hawke/
https://adamsllc.net/brands/hawke/washer-sealing-fibre-washer---m32-hawke/
https://adamsllc.net/brands/hawke/washer-sealing-hawke-fibrewasher-m25-red/
https://adamsllc.net/brands/hawke/mounting-back-plate-no--9451/

